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Learner Resource 6
Why are LIDC cities growing?

LIDC cities around the world are increasing in size, known as urbanisation.  This is partly due to rural-urban migration.

1. Sort these factors into:

· Reasons to leave the countryside/rural areas (push factor)

· Good things about the city/urban areas (pull factor)

	Reason for migrating
	Push or pull?
	Develop the reason
	Development indicator it links to

	There are a lot of births in rural areas.
	Push
	This means there are not enough resources for everyone, resulting in overpopulation.
	Birth rate

	Drought can affect farms.
	
	
	

	There are plenty of services such as hospitals and schools.
	
	
	

	You can earn more in a city.
	
	
	

	There are better facilities such as electricity and running water.
	
	
	

	People would have to walk miles to the nearest well.
	
	
	


2. In each box, write down any development indicator(s) that link to the situation.  Highlight the most applicable:

· Adult literacy

· Population per doctor

· GNI per capita

· % of people with electricity

· % of people with access to clean water

· Food intake (calories)

· Birth rate

· Death rate

Stretch and extend: 

Can you think of any other push and pull factors leading to rural-urban migration?
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